
ICT in EFL credit test, MA3 extramurals, 6/02/10, version A 
 
Circle the best answer 
 
1. The internet in Poland is ... years old: 
(a) 5, 
(b) 10, 
(c) 15, 
(d) 20, 
(e) 25. 
 
2. One gender stereotype in ICT is that: 
(a) Murphy can strike at any moment, 
(b) digital natives are computer wizards, 
(c) women's ICT skills are low, 
(d) the Hindus are good at computers, 
(e) older citizens are hopeless with ICT. 
 
(3) Visualizers are: 
(a) descendants of OHP, 
(b) multimedia projectors, 
(c) LCD screens, 
(d) laser pointing devices, 
(e) internet cameras. 
 
(4) When a corpus is parsed, it can be processed by: 
(a) spelling, 
(b) pronunciation, 
(c) part-of-speech (POS), 
(d) part-of-sentence, 
(e) pragmatic tagging. 
 
(5) Modern offline e-dictionaries allow: 
(a) POS-tagging, 
(b) snapshot uploading, 
(c) definition searches, 
(d) entry editing, 
(e) entry addition. 
 
(6) A line with blanks like: [-- was having - --------- --------] comes from: 
(a) ZX Spectrum, 
(b) Sequitur, 
(c) Triple Play Plus, 
(d) the internet, 
(e) Eclipse. 
 
(7) Ning is like: 
(a) Facebook, 
(b) Flickr, 
(c) YouTube, 
(d) Orange, 
(e) Wrzuta. 
 
Best answers version A: 1d, 2c, 3a, 4d, 5c, 6e, 7a 



ICT in EFL credit test, MA3 extramurals, 6/02/10, version B 
 
Circle the best answer 
 
1. PDA is: 
(a) Personal Digital Assistant, 
(b) Polish Digital Association, 
(c) Processing Device Answer, 
(d) Palmtop Direct Architecture, 
(e) Portable Document Access. 
 
2. Words neighbouring in a traditional dictionary are: 
(a) homographs, 
(b) homophones, 
(c) homosemes, 
(d) synonyms, 
(e) polygraphs. 
 
3. CALL in ZX Spectrum and DOS depended on: 
(a) audiolingualism, 
(b) snapshots of objects, 
(c) recorded audio, 
(d) simulation, 
(e) text manipulation. 
 
4. ASR in CALL is mostly used for: 
(a) dictation, 
(b) text manipulation, 
(c) dialogue simulation, 
(d) pronunciation testing, 
(e) translation. 
 
5. There's hardware, software and ....ware: 
(a) corpus, 
(b) flesh, 
(c) brain, 
(d) mind, 
(e) wet. 
 
6. Project Natal is about: 
(a) corpora, 
(b) language teaching, 
(c) e-dictionaries, 
(d) artificial intelligence, 
(e) Moodle. 
 
7. The internet is not inherently: 
(a) communicative, 
(b) collaborative, 
(c) didactic, 
(d) facilitative, 
(e) multilingual. 
 
Best answers version B: 1a, 2a, 3e, 4c, 5e, 6d, 7c. 


